

# RULES

$$\frac{d}{dx} [c] = 0$$

$$\frac{d}{dx} [cx] = c$$

$$\frac{d}{dx} [x^n] = nx^{n-1}$$

5.  $f(x) = 5x^{-2} + 4$

$$f'(x) = 5(-2)x^{-2-1} + 0$$

$$= -10x^{-3}$$

$$= \left( \frac{-10}{x^3} \right)$$

6.  $f(x) = \frac{3}{(2x)^3}$

$$= \frac{3}{2^3 x^3}$$

$$= \frac{3}{8x^3}$$

$$= \frac{3x^{-3}}{8}$$

$$= \frac{3}{8}x^{-3}$$

$$f'(x) = \frac{3}{8}(-3)x^{-3-1}$$

$$= X^{\frac{1}{5}} + 3$$

$$g'(x) = \frac{1}{5}x^{\frac{1}{5}-1} + 0$$

$$= \frac{1}{5}x^{-\frac{4}{5}}$$

$$= \frac{1}{5} \cdot x^{-\frac{4}{5}}$$

$$= \frac{1}{5} \cdot \frac{1}{x^{\frac{4}{5}}}$$

$$= \left( \frac{1}{5x^{\frac{4}{5}}} \right)$$

$$= -\frac{9}{8}x^{-4}$$

$$= \left( \frac{-9}{8x^4} \right)$$

7.  $f(x) = \frac{5x^2}{x^{-5}}$

$$= \frac{5x^2 x^5}{1}$$

$$= 5x^7$$

$$f'(x) = 5 \cdot 7x^6$$

$$= (35x^6)$$

1.  $h(x) = 4x^3$

$$h'(x) = 4 \cdot 3x^{3-1}$$
$$= (12x^2)$$

2.  $y = 3x^3 - x^2 + 7x + 5$

$$y' = 3 \cdot 3x^{3-1} - 2x^{2-1} + 7 + 0$$
$$= (9x^2 - 2x + 7)$$

3.  $h(x) = x^{\frac{3}{2}}$

$$h'(x) = \frac{3}{2}x^{\frac{3}{2}-1}$$
$$= \left( \frac{3}{2}x^{\frac{1}{2}} \right)$$

4.  $g(x) = \sqrt[5]{x^4} + 3$